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FKRET563F M2 FARET—T B44FM34
FARET565% 1 FHET— T H39F 17
i ET565%FH3 BT =T H43%FH#31
T ET566F M2 FRET T B43%F 1
FRET566F M3 FET =T B43%FH3
FKET566E 5 FHRET—TH43%29
T ET567 Fih FHKET =T H43%M10
T ET57 0% H FAET =T B36%F M 24
TR BT570% FET =T B44%F#H10
FRET57 0% H FWET— T H44%FEH11
FET570% Hh2 FHKHET =T H36%FM24
FRET570% #h3 FMET =T B48%F 3
FAT570% 3 FET =T B48%&H4
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FARET570% 4 FHRETZ T H44E 4
FRET570% Hh6 FMET =T B44F M5
FAET570% 13 FRET =T B45%H1
T BT570F M 15 FRUETZ T H45%&M15
T ET573%Hh2 FHMET =T EH41&#19
T ET5 755 H FWETZT B41%#27
FRETS57 5% M1 FiET =T B 33%&F M5
KBTS 754 FHET—T B36&4
TR ET575% 6 FKET =T H44%E M2
ST ET57 9% H 1 FRET =T B43%Fh7
FRETS579F M3 FAETZT B35%F 21
T ET58 1EH FAHET =T B 35%#123
T ET582% BT =T B 35%& 27
FRETS84F M4 FET =T H35&M15
FRET585F M3 FET =T B 36& 13
FARET586 %1 FHET—T H36& M1
T ET587 Fith2 FHMHET =T BH52%M2
FRET591 %3 FARET =T B 35%& M5
T ET592F 2 FiET—T B 23% 5
FAKET592% 4 FHRET—T H22% 13
T ET594 %1 FRHET =T B 35&#30
TR BT594F Hh 1 FARET =T B 35%& 32
FRET595%F 1 FiiBET—T B 23% 9
TR ET596 % i FARET— T B 39%&#h3
T ET596 %1 BT —T H23%FM12
FRET602%F 1 FARET—T B38&F M 10
FRET602F M3 FiET—T B 38%& 18
FARET602% 4 FHKET— T B38&MS5
T ET602%FH5 FedkHBT—T B 38%& 3
T ET602% 6 FRET— T B 38% i1
FRET602%F 7 FiET—T B37%&#9
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FARET602%F 8 FET—TEH37& 11
T ET602FHho FMET—T B37%F 13
FET602%F 10 FAET—T B38%& 7
T ET602%F 11 FiET—T B 37%&H8
T ET604 1 BT —TEH37&M15
FRET604F 1 FHMET—T B37&M16
FRET604F Hh2 FARET—T B 23%F 20
FET604 3 FHET— T B37&6
T ET604F 5 FRHBT—T H23%H18
T8 18% 4 FRET— T B37%& 1
FRET609F 1 FiET—T B37&H2
T BT600%F 2 FMET—TE11&M#5
T ET610%#h2 FHET—T B 25%H#11
FET610%#h3 FARET—T B 25% 9
FRET610F#S FARET—T B24F 10
FiRET6 107 BT —T H24%H#12
T ET610% S FRHBT—T B 25%#4
FET610%#ho FHMET—T B24%F 14
FHAT6 1010 FKET—TH25% 14
FeikETe 1 1% FET—T B23%F 21
Tk ET6 125 1 FRaBT—T H23%&H#30
FET615% 4 FAET—T B25% 18
FRET615% M6 FET—T B 25% 1
FIRET6 1556 FHRET— T H25%2
T ET615%Hh7 FHET—T H24%H18
FRRET617FHh3 FARET—T B 23%F 4
R ET6 181 FET—T B 22% 7
FIRET618 %3 FHRET—TH22%11
Tk ET618%FH5 FRHET—T B 22% 18
T ET622% 3 FARET—T B21%F o
T ET623F i FRET—T B 10%&#7
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T ET623% FET—TE10%&#14
T ET623F 3 FHET—TB10&EM 14
T ET625%F 1 FAET—T B 10&M#10
FEHAT626 % 1 FHRET—TH34%M13
T ET628%F Hh 1 FRHET =T B 35%& M35
T ET637 F i1 FMET =T B34FM10
FRET6 407 H 1 FAET =T B34 %1
i ET645% 1 FARET—T B 10%E#5
T ET6 46 H 1 FHET =T H24%M14
FiET648% H BT T H24% 14
FRET651 Fith2 FET =T BH26%#2
i ET652%F i FIWMETZT H24%H8
T ET653 % BT =T H24 &5
T ET655F H2 BT TH22%M14
TR ET657 Fih1 FET =T H25%M15
T ET658 % i1 FRUET =T B 26%H#7
Tt ET658%FH2 FWET =T BH25%H15
T ET658%FH3 FHMET =T B25%M15
FRET659 7 1 BT T H25%#M12
it ET662%FH3 FRMET =T H22%&H#9
Tt ET662%H3 FMET =T H22%MHh11
T ET662% 4 FHMET =T B25%#10
T ET662F M5 FHRETZ T B27%F 23
it ET662% M6 FRUETZTEH21&M12
Tt ET662%H8 FYETZTH21&H14
T ET664F 1 FMET =T B22% 8
T BT665%F i FET =T B22%18
FHET665%FMH3 FHRETZTE12%M11
T ET666FH FWMETZT H23%H6
FTHET67 0% FET T B24%#19
FAT675% 1 FAET—T B3&#17
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FARET677 & FRET— T H3&M15
T ET678% 1 FARET—T B3&M10
FithET678%F 3 FAET—T B3%& 13
FtET682%F i FRAET =T B 1531
T ET683 %1 FHET =T EH14%E#24
FiHET684 % 1 FRET =T B 24 %1
T ET684F M2 FET =T B 24 %13
FiET685%F i FRET =T B 14%#123
T ET686F i 1 FHET =T B 14%#17
T ET687 Fih FRET =T B 23% 1
FRET689F FAET =T B 23%#14
i ET689%F i FRARHET =T B 23%#5
A ET690% H FHMHET =T H15%&#30
FRET69 1 FHWETZ=T B22% 3
T BT693%F il FHRET =T B21%&H6
T BT693%F ih M —TH21&H16
T ET694 FHRHET =T H21&M5
T ET695% 4 FHETZTH15%M16
TR ET698F 1 FRET =T B 16511
FIRET608 &3 FHRETZTHE10%&#123
BT 700 H5 FET =T B 7&H#1
FRET 700 H 7 FAET =T B 10%&#5
FRET700E H8 FET =T B 10%&H#4
FARBT700%FH10 FRUETZTE10%#18
i ET700%H 10 FHMET =T EH10%&H#19
FEARET700%F H 12 FRMET =T E10&H#19
FARBT705% FET =T B8&EH#20
T ET 7061 E/NHET=TEHS5&M10
T BT 706 H 1 FHMHET =T H8%&EHM13
FRET706FH3 ENHET=T B55& M7
FRET706F M4 FET =T B o&Eih5
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FARET706F 5 FHET—TEH8&EM10
FRET707FHh3 E/NHET=TE55%H 11
FRET707E 3 ENHET=TB55%F#12
FRBT707 &M 7 FIMET—T H8& 26
T ET708 %1 E/NHET=T B56&#20
FET708F Hh2 E/NHET=TEB55&M15
FAT708%F 3 FAET =T B 8%
BT 708%F M5 E/NHET=T B55%#13
T BT708%F 6 E/NHET=TB56%&M18
FET708%F Hh8 E/NHET=TE55&M18
FARET7 105 FHET =T H10%EM18
FUARET7 11 11 BT =T BH7%&#7
TR ET7 1151 FHKET =T B 7&H#8
FRRET7 115 FET =T B7&#9
FRRET7 115 FET =T B8&E#25
FARET 711 FHh4 FRAHET =T H6%&#8
TRk ET711%Hh5 FHET =T H8&EMS
FRikET7 1156 E/NHET=T B56&#H27
FRET7 1157 FET =T B8 #&ith23
FARET 71158 FRARET =T B 7%&#5
TRtk ET711%Hho FHMHET =T B 10%&H#8
FHRET7118H10 FET =T H8&E M1
FRRET7 14F 5 EINHET=T B56%F 122
FiRET714% 6 FMET—TH6&EM12
TR ET715%H1 E/NHET=T B56%F#25
FiikET7 18 % FTHET — T BH5&E#O
FRET718% H4 FET =T B5&#h3
kBT 720%F H2 ENHET=T B59%F#15
T ET720% 3 E/NHET=THS9%EM14
T ET720% 5 FHET=TH6&EM16

EHET 724 Hh 1

FRET =T H6&EM21
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TARET7 24 H 1 FHMET =T H10&#25
T ET724% 4 FMETZT B 10%& 25
FRBT 727 F FHRETZTE11&#H12
FTARET 731 1 FARHET =T B 3%&#5
T ET 7311 FKET =T EH11&#6
FET731FH2 FHRET—TH6&EM15
FRET735%F M2 E/NHET=T B58%FH#7
kBT 735%F M2 E/NHET=T B58%F#9
BT 735%F 4 E/NHET=THGS7&M10
BT 735%F 6 FET =T B 3%&h4
AT 738%FHh 1 BT =T B4%&ih8
kBT 7 42% 1 E/NHET=T B58% M4
T ET742% 1 E/NHET=T B58% M5
TR ET7 421 FHWETZT B2%&E 22
FAT742F 15 FET =T H2%& 21
BT 744501 E/NHET=T B60%E#A4
BT 7446 E/NHET=T B59%#16
FRBT7 458 H FHET— T HAE M3
FRET 745 AT =T B4& 4
FARBT 747 F E/NHET=T B59%FM17
FiikET 749 Hh FRET T HAE M
FET751F 1 E/NHET=T B60&F M5
FRET751F 1 E/NHET=T B60FE#6
TR ET 754 H FWMETZTH2%M#10
T ET 756 % Hh FET T B 3% M1
T ET756%F H FMET =T B3%M19
FikET 758 % Hh 1 FAET =T B3%&MI15
kBT 758%F M2 FRUETZTE11%&H#23
T BT 758%F 3 FHMHET =T EH3%EM18
FRBT 760 Hh FMETZ=T B113&#5
FKET760F 4 FHRETZT B 11513
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Tk ET761%F 1 FHRETZTE11%E#H7
T ET762% 1 FHETZ TR 11F#13
T ET762F M2 FHRETZTE11%EM14
T ET763% M1 FRUETZTE11&#15
BT 763%FH2 FRHKET=TH11&M16
T ET765% 1 FHET= TR 15% 13
TR BT767F i FET =T B16%&Hh22
FiET 768 % 1 FRET =T B 15%#123
T ET 768 %1 FHMET =T EH15%#24
FET769%H3 FAET—T B 1&#19
FRET 770 FAET =T B 15%#16
FRET77 4% H FRET =T H10&E#22
T ET775% 3 FHMET =T B 14%#:3
T ET775% 4 FHETZ TR 14%F 13
FRET775F M5 FET =T B 14518
FAKET7 7557 FHRETZTH2%#13
T ET775% s FHKET =T H2%&M19
TR ET775% s FARET =T B 2% 20
A ET775% 11 FHRETZTB14%M14
FARET781 1 FRAET =T B 12%#19
FET781%FH11 BT =T B 13%&H#6
T ET782%F 1 FRET =T B 13811
TR BT783% h FRET =T B 12%H1
FiRET785% FRARET =T B 1%&#3

T AT 787 F i1 FHMET =T B 12%#7
FRET794F Hh2 FRET =T H2%&#H7

FRET794F M3 FET =T B2&M17
FARET800FE FRARET =T B 131

T ET804F 9 FKHET =T H2&#3

T ET805F FET—T B 1&#3

FAT805%F Hh 1 FAET—T B 1&#3
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T ET806FE 4 BT —T B 1&#7
FET806FH5 FUET—T B 1&#9
FRET807Fha FARET—T B1&#17
FET807 &5 FRUET—TEH1&#14
T ET809 % 1 FHMHET =T BH24%& 17
FRET809F Hh 7 FHMET=T B15%#3
FRET8 10FE M3 FAET—T B 2% 1
FEHMETS 13 % 1 FHRET—TE15%HM11
FET813% 13 T ET2002% 1
FRET813%FH15 FRUMET=TEH15%&M#10
FRET815%F 2 FARET—T B 3% M5
FikET8 165 FRAET—T B4%& 4
TR ET8 165 H 1 FHET—T B 4%
FET816%Hho FARET—T B 3% 22
FET8 1611 FAET—T B3&#M25
AT 16 %12 BT —T B3%#20

Bl

EET818%& 4

Bl

BT —T B 37& 11

FET819% 4 T ET2002F 17
FRET819F H5 T ET2002% Hh 11
T ET820% FRARET— T BH5%&#3
TR BT820% Hh 1 FBT—T H5& M3
FTiET623%F FET—TH10%&#14
FRET8 237 1 FAET—T B8 & M5
i ET823F 2 FRARET—T B 1413
TR ET823 &6 FET—T HO&E M1
TR BT829F Hh 1 AT —T BHO&E M6
FRET8 297 H 1 FAET—T Bo&Eih8
T ET829% 1 FMET—TE11%&H#9
FiiRET829F 13 FET—T B8 &4
T ET829% 4 FiET—T B8 &M 1
T ET829%F 6 FHET—TE 1110
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FARET835%F i FRET— T H3%M18
ST ET835%F Hh FRET—T B 10%F#1
FRET8 367 H 1 FRET—TH10%&#15
TR ET837 Fih1 FRMHET—T B21%1#8
Tk ET84 1% Hh2 FRHET—T B 2181
FTHET842F M2 FHET—TH21&#14
T ET842F M5 FRET—T B21%F#3
FtkET842%F 5 FRUET—TH21&#16
T ET842%F 5 FHET—T EH21%#17
T ET842%F 5 FHET—TH21%F#18
TR ET842F M5 FARET—T B 21320
FARET84 3% Hh 1 FRARET—T B 731

TR BT84 3% Hh 1 BT —T B 7&H#2

FHET84 3% 1 FRET—T B 11F#11
FRET8 457 H 1 REET—THE11&#14
FiET845%F H2 FARET—T H20&#h3
T ET845% 7 FRET—T B 1181
T ET846%F H 1 FRET—T B 19%H#4
FRET846F M3 FAET—T B 18%&#M7
T ET84 6% Hha FRAHET—T B 19%#6
TR BT8 48 % Hh 1 FHET—T H20%&H#15
FiET848%F Hh2 FARET—T B 18%& 9
FRET848F M2 FET—TH18%M10
FHMET848 %6 FHET—TH20&M16
FiET848% 8 FHBT—T H20%&#6
FET849% 4 FAET—T B20%F 12
T ET849%F 4 FARET—T B20%F 13
FET849F H6 FARET—T H20&#h8
T ET85 1% 3 FRRHET—T B 2281
T ET851FH3 FARET—T B44%F o
TR ET852F i FHET—T B22%i#18

25




B £ Fr #"&HEEF woER
FikET852%F 8 FRET—T H26% 6
T ET852%F 12 FRHET—T B 26%#:3
FRET853F i FAET—T B 26%#18
FIKET853 &2 FHET— T H26% 18
T ET856 % FHET—T H26% 11
T ET8 56 FMET—T B26%FM15
TR BT857 Fith FET—T B26%M19
FARET858 %1 FHET— T H27%16
T ET86 0% H 1 FRRHET—T B 26% 1
T ET860FE H 1 TR — T B27& 4
TR ET862F i1 FiET—T B28%& 2
FIRET862% 3 FHRET— T H27& 13
T ET864 %1 FHET—TEH27&H#11
TR BT865%F Hh 1 FARET—T B26%#M17
FRET865F M2 FRET—T B27&FM10
FIKET8 654 FHET—TH26%M16
T ET866%FH3 FkHBT—T B 36%&H#6
TR BT867 Fith 1 FARET—T B36%F M 11
FRET867F M3 FiET— T B 36%&FM5
FiKET868 %M1 FHET— T B35% 3
FitET868%EH8 FHBET—T H36&FM15
FET868%FH10 BT —T EH36&M12
FRET869F 1 FARET—T B36%&M17
FIRET869F 2 FHET— T H23%25
T ET869%FH3 FHBT—T EH36%iH18
FET869% 4 FRET— T B 36% i1
FRET869F M5 FiET— T B36%&FM2
FARET87 2% 1 FHET—TE33&FM12
T ET872% Hh2 FeAkHBT—T B 33%& 11
FET872% 3 FARET—T B33&F 10
FAT873FHh 1 FARET—T B 28% 3
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FARET87 3% Hh 1 Fe4kHBT—T B 33&F M5
FRET873FE M3 FRET—T B 3213
FRET874E FET—TH27%#13
T8 7 5% FiMET—T H29%#9
T8 763 FRHBT—T H29%#8
RTS8 7 7F 1 FET—T B29% 14
FRET877E M3 FARET—T B29%F 13
FEHMETS 78 % 1 FHRE—THE18&M12
T ET878% 3 FRRHBT—T B 29%#:3
KBTI 79%F Hh 1 FARET—T B29%F 11
FRET879FE S FARET—T B 30%F 14
FAET87 9% H6 FRAHET— T H29%#1
FET879%H10 FKHBET—T H29%M12
T ET880FE FARET—T B 29%F 20
FRET881F M3 FAET—T B 28%&#M7
FiiRET881FE 5 FRAHET—T B 28% 1
T ET88 1% 7 BT —T B31%&H#7
T ET88 1E 7 FRET—T B31&M17
FRET881E M8 FUARET—T B 30%F M5
FikET88 1% 11 FRKET—T B29% 17
FiET88 112 FHHBET—TEH31&M10
T ET882%F Hi2 FARET—T B 32% 8
FRET883F M2 FRET—T B 32% 14
i ET883FE 5 FAHET— T B 33%F 1
T ET884 % 1 FedkHBT—T B 33%& 3
FiET884 % 1 FET—T B33&M17
TR ET884F 1 FARET—T B33%F 18
FiRET885 % Hh 1 FAET— T B 33% 16
T ET887 Fith FRHBT—T B 34 &5
FTHET800FE M2 FiRET—T B4 1&E#2
FRET890FH 3 FET—T B41%1h3
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FARET892% i FRHET—T B 34%& 17
FET893F Hh2 FET—T B33%F M 14
FRET894F 1 FARET—T B40F M 30
TR BT8 06 i 1 FKET—T H418&H#5
T ET897 Fih1 FHET—T H40%&EH# 31
T ET899FE H 1 FET—T B42%#10
FRRET901E 1 FHRET—T B42%M16
FARETO01 B2 FHRET— T H42F 13
T ET90 1% #3 FHET—T B42% 1
FRRETO 1151 FARET—T B31&F 21
FRET9 115 Hh2 FARET—T B31F M1
FeET911EH#3 FRAAET—T B 31&#3
T ET911%Hh4 FHET—T B 31& M4
FRRET9 1158 FARET—T B 316
T ETO11% 12 FARET—T B31&FHh2
FRET9 145 H FRAHET—T B 30%F 1
FETO 14 Hh1 FRRHBT—T B 30%&#2
FRET914FHh2 FARET—T B30F 7
FRET916EH FET—T B 17%&#17
FARETO 18 % Hh 1 FRAET—T H17&#21
TR ETO18% Hh 1 BT —T B 17&#23
FRET920%F 1 FMET—T B 16% 28
FRET920F M5 FARET—T B 16329
FetkET921%EH FRARET—T B 17%#4
Tt ET92 1% H FHET—T B 17&H#7
T ET921%Hh2 FRET—T B17%& 24
TR ET923%F 1 FET—TH17%&#H14
FARETO23 %3 FHET—TE16&124
T ET925% 3 FHHET—T B 16%#27
T ET925% 3 FMET—T B17%F#3
T ET926F M2 FHRET—T B 18%F 11
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T ET926F 4 FHET—TEH15%&M15
T ET926F M6 FHMET—T B 15%#13
FKET926FH9 FARET—T B 16% 32
FiRET027 Fith 1 FRAHET—T B 1631
T ETO27 & i 1 FRKET—TEH16%EM16
T ET927 &4 FARET—T B 22% 6
T ET928F i FET—TH15%#18
FTARETO3 1 F 1 FARET—T B 13%& 8
T ET931E Hh2 FHET—T B 1581
T ETO33F 1 FARET—T B 15% 4
FRET933F M2 FiET—T B 16%&1h8
FIRETO33 & 2 FHRET—THE15%M11
T ET934 F Hh2 FRHET—T B 16%#:3
T ETO34F H2 FARET—T B 1635
FRET934F 4 FiET—T B 16%&h8
FARETO36 %1 FHRET—THE16%&M113
T ETO36%H 1 FHET—TEH16%E#22
T ETO36FHI10 FRMHET—TEH16%&#21
FEHRATO36FH 11 MHET—TH16&M14
T ETO36%F 12 FRUET—TEH16%H#11
T ETO37 F i1 FRHET—T B 19% 1
T ETO38 % 1 FARET—T B 19%#8
FRET938F M2 FHRET—T B17&F 11
FIRETO38 &6 FHET—T B 18& 1
T ET938%E 6 FRRHBT—T B 18%&#:3
FRETO38F M6 FiHET—T B 18%& 4
FRET938F M8 FARET—T B 18%& 2
FARETO40F Hh 1 FRAET—T B 19%#2
T ET940%F 3 FHET—T B 19%#9
FETRO45% FARET—T B12%#7
FRET945%F 1 FiET—T B 12%H#9
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FAMBTO4 5% Hh 1 FRET—TEH12% 11
FET945F 5 FARET—T B 12%#8
FRET949F FARET—T B 18% 18
FET950% FRARET—T B 12%#1
T ET95 11 FRHET—T B 12%#:3
T ET959%F 1 FRET—T B 1381
FRET959F H3 FET—T B 13%#10
FETO59 % 6 FAHET—T B 35%#16
T ET96 0% H FHMET—TE11%&H#13
T ET96 1% 1 FARET—T B 11813
FRET961FH5 FiiBT—T B33&FM15
T ET962F H5 FARET—T B 13%#16
T ET962%FH5 FRBT—T B 13%&#7
T ET962% o FARET—T B 11%#H4
FRET966F M FET—T B8&Eih2

TR ET1489% 1 FIWMETMT H21%&#13
FEARET1490F H FIHETIET B 21519
FEARET 149155 FRETET H21%&H#14
RHIRET226 &l RERET—T B 1781
FHiRET227 Fith BRET—T B17&H4
RiRET228 %1t 1 BRET—T B 17 &5
RiRET228 %1 1 BERET—T B 18%& 13
EiRET228% 2 EiRET— T H16&#16
REIRET228 %13 FARET—T B 179
RiRET228% 4 FRET—T B5&#12
EiRET 220 F Hh FERET—T B 16 &1
EiRET230%F th2 ERET—T B 16&i#11
REIRET230%F 3 BRI —T B 16%&#h21
EIRET235% th 1 BRET—T B 16%&#h7
EiRET236% i 1 ERET—T B 16&i#h2
EiRET237 Fith BRET—T B 16&5
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REIRET237 Fih FAARET— T H28%&M16
BiRET237 Fith ERET— T B31&h2
RiRET238 % 1 FERET =T H28&H#10
BRET238%F 2 BRET—TB31&#15
EHiRET238 %7 BRET=T B31&h9
RiRET238%th8 ERET— T B31&#h7
RiRET239% i ERET =T H29%H#12
BRET240% 1 BRET—T B26%&#7
RiRET240% 2 BRET— T B29% 1
EiRET240% 3 BERET— T B29%F 13
RIRET24 1 Fith 1 FEIRET =T B 27 &5
BRET241 % Hh2 FAARET—T B 28%&#3
RiRET242% 113 ERET— T B24 %3
EiRET242% 6 ERET— T B28%1th8
EiRET245% 2 FERET =T H27&#20
BARET245%F 13 FBRET—T B28%&HM12
RiRET246%Hha ERET =T B7%&#17
EiRET24 7 & 1 FERET =T B27 &1
iRET249% th FEIRET =T B 15&#:5
FARETER 24 9% #h BRET—T B 15%&H#7
EHiRET25 1% Hh FRET—T B 10&#15
EiRET251 & 1 ERET—T B 15&5
EiRET251 % 1 FEiRET—T B 16&#12
REIRET256 % i 1 FARET—T B 13% 4
ERET256 %3 BIRET—T B 13%&5
EiRET256 &3 BRET—T B 13%F 7
RiRET258 %t 1 FEIRET—T B 12&#h24
REIRET258 F 12 FARET—T B 143
EHiRET259% ih BARET—T B 15%#h1
RiRET260% 1 1 FERET—T B 15&#17

BEiRAT260%F 3

BERAT—TH15%&#18
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EHiRET26 1% FRET—T B 15&#15
RiRET26 1% FERET—T B 16&#125
EiRET264 % 1 FERET—T B 165&#13
FHiRET265% BRET—T B 14%&H6
EiRET266% Hh FRET—T B 13%F 11
EiRET270F 1 FERET—T B 14 &1
RiRET27 1 & th2 EIRET—T B 13&1h9
REIRET27 3 & 16 FARET—T B 12%#h29
RiRET274 %2 BRET—T B 12%&#h27
EiRET27 5%t BIRET—T B 13%Fh1
iRET27 6%t FERET—T B 12&#130
REIRET27 6% 1 FAIRET—T B 12%&#30
RiRET27 6%t 1 FRET—T B 12%#h31
EiRET276% 2 FERET—T B 12&#30
RiRET277 &7 FERET—T B 12&#:31
REIRET278 %13 FARET—T B 12%h6
BHIRET278 % h3 BAARET—T B 12%H#7
EiRET27 9% i 1 FERET—T B 12%#1
EiRET279% 2 ERET—T B 12%&th2
FHiRET280% i 1 BARET—T B4%&H#13
RET290% 8 BRET—T B 1131
RIRET290% 13 FERET—T B5&#10
RERAT29 1 & i1 FARET—T B o%&ih8
REIRET291 FHh5 FARET—T B o7
RiRET29 1% #h6 FRET—T Bo& e
EiRET292%F 2 EiRET— T Bo&ith4
RiRET292%F 3 FERET—T He &7
REIRET292 % Hh4 FARET—T B oZ i1
EiRET292% 6 BRET—T B4%& 11
EiRET292%F 7 ERET—T BO&#10

BEiRAT293 %3

BEIRET— T B 6 &5
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RiRET297 Fh2 FERET—T B 6 &1
RiRET290F i ERET—T B5&#15
REARET301 it 1 EIRET— T B5& 23
FHiRET301 & it 1 BRET— T B5&#24
RIRET301 % 1 BRET— T B5& 27
RAIRET301 it 1 ERET—T B5&#Hh28
RERAT301 & i1 FARET—T B 5% 31
FHiRET301 &3 BARET— T B5&#22
RHiRET301 &6 FERET—T B5& 1
RIRET302% 1 1 ERET—T B4&#10
RIRET302% 1 ERET— T B5& 2
REIRET302F 12 FARET—T B 5& 4
RiRET302% 13 FRET—T B 5& 3
BHIRET302F Hha FARET—T B 5% 5
RiRET302F 4 ERET— T B5&h26
FHiRET303 % ih ERET—T B 10%&M16
RIRET304 % i 1 BRET—T B3&F 17
RiRET304 & 1h8 ERET— T B 4% 1
REIRET304 F#1O FARET—T B4 &5
RIRET304 %t 11 ERET—T B4&#15
RIRET305% th 1 FIRET—T B 3% 3
RIRET305% 1 1 EiRET— T B3& 5
EIRET305% i 1 EiRET— T BE3&FH14
FHiRET305% i 1 BRET—T B3&M15
EIRET305% th 1 EIRET— T B34 %21
BH4RET305&F Hh5 FARET—T B 3% 9
RiRET305%th6 ERET—T B3&F 13
FHiRET305% o BRET—T B3&M12
RtRET305% 110 FERET—T B3& 7
RAIRET305% 1 11 EiRET— T B4& 7

BH4RET305F 19

REIRET— T B 3% ih4
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R{RET306% 1 ERET—T B3&H#10
RIRET314 % 1 FAET—T B53&F 1
RIRET314 %2 BT —TE53%FHM16
REIRET3 14 % H#h4 FRET—T HS53% M 14
RAIRET314 %5 FMET—T B53%H13
RT3 15% 1 FARET—T B53& 4
RIRET315%h3 BT —T B53&F 11
FHiRET318% i FMET—THES3&M10
RAMRET310% 1 FRET—T B53%FH8
RIRET319% 2 EiRET— T B2& 5
RRET320% i BIRET— T B 2% 21
FHiRET320% th FARET—T B 2% 143
BEIRET321 & th FAARET—T B 1&#6
RAIRET321 &t 1 ERET—T B 1&1h6
RiRET321 %3 BRI —T B2%&#15
FHiRET 321 & o BRET—T B2&M10
RiRET321%h10 FRET—T B 1&h8
BiRET321%&th14 ERET—T B 151
RET321 %17 FAET =T B53%F 7
RHiRET321% 18 FARET—T B2%& M7
RIRAT334 % i 1 BEARET—T B 2% 1
EHIRET334 &3 EiRET— T B2& 2
RiRET338% BIRET— T B 2% 1136
FHiRET 338 % ih FAARET—T B5%&#8
R{RET339% ih BRET— T B5&#20
EH{RET340% i BRET—T B5%& 13
REIRAT340F FARET—T B 7% 1
REIRET 344 % 01 FARET—T B 7%&h2
RIRET344 %1t 1 BRET— T B7& 15
RIRET344 %1 1 ERET—T B7&#20
FHIRET 344 F 13 ERET—T B 7&113
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RiRET344 %13 FRET—T B7&#19
BHIRET34 5% Hh FARET—T B 7&h4
EIRET34 5% i FERET—T B 7 &7
FHiRET345% i FAARET—T B 7%&#8
RHIRET345% ih FERET—T B7&#10
EHiRET345% i ERET—T B 7% 11
iRET346%h5 FRET—T B8 &3
REIRET 346 F 16 FARET—T B 8& 5
ERET346% 6 FIRET—T B8 &9
RiRET348 % 1 ERET— T B8&ith 11
EIRET34 8% i 1 ERET—T B 10&h2
FHiRET348 %3 EiRET—T B8&th12
RRET34 9% 1 FHMET—TEH59%H18
RIRET340% 1 ERET—T B 12%&h8
EiRET349F 4 BIRET—T B 12%h9
REIRET 3490 % 16 FARET—T B 12%#11
R{RET350% iHh FRET—T B 12%#13
EH{RAT35 1% Hh EiRET—T B 12%&#12
EIRET351 & EIRET—T B 12&#16
FHiRET 353 % ih FRET—T B 10%&H#13
RIRAT354 & i 1 ERET—T B 10&#7
EHiRET354 &2 ERET—T B 10&#10
FIRET354 F#h2 BERET—T B 10&i#11
REIRET354 Fih2 ARET—TH10%&#14
E{RET356 % i FRET— T B8 &8
EHtRET356 % i BRET—T B 10%#3
EiRET356 %2 BIRET—T B 10%F#3
FHiRET363 % i BAARET—T B 11841
RHiRET367 it 1 BRET—T B 2% 28
FiRET369%th BERET—T B 11&5

BEIRAT369% 2

BAARET—T B 11&H#5
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RIRET373%h2 BRET—T B 12%&#20
FAiRET 374 %t BARET—T B 12%&#14
RRET37 6% i 1 FERET—T B 12&i#h23
FHiRET376% 2 ERET—T B 11%#15
BH4RET378 % FAARET—T B 11%&H#6
RiRET378 %7 ERET—TH11%#13
RiRET38 1% i 1 FERET =T B 15&#h2
FHiRET 388 & it BRET— T Bo&EH11
RIRET389 % Hh 1 ERET— T Bo&E#h48
BAiRET390% th ERET—T B2%& 27
REIRET390F AR —T B 7&M14
RE4RHET R 390 ik FARET—T B 1%&#h18
RIRET396 % Hh 1 ERET =T B 1&#20
RiRET403 %2 BEIRET—T B 1%&#8
EiRET404 %2 ERET—TH24%&16
REARET4 1151 FRET— T Bo&#6
RAARET4 11511 ERET =T B 11&H#4
RHiRET4 173 ERET— T B8 &6
RERAT420% i1 1 FEIRET — T B2%&#111
BARET433%F 2 BRET— T B4&H12
RRET433%th3 FERET =T B4 &1
RRET433%th3 EIRET— T B4&#20
EIRET435% i ERET— T B4&Hh3
FHiRET435% i FARET =T B4 &4
EHiRET436 % 1 BRET=T B 3% 1
EiRET436F 2 ERET— T B3&1th8
FEiRET436F 14 ERET— T B3& 4
BARET439F 5 BRET—T B3&M15
RiRET446% 18 FHMHET =T H59%&H11
RET446% 110 FHET — T BH59% 8

BHiRET446F 12

FETZ T H59%FH#12
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ERET447 Fit FHKET =T HS59&M 15
EiRET440F 2 FHET— T H59%F 14
RiRET450% th 1 ERET—TB3&F12
BARET450% 3 BRET— T B3&M12
ERET450% 5 ERET =T B3&FH#11
EiRET450% 6 ERET—TB3&M12
REIRET453 % Hh FARET =T B3%Mh12
BARET458% 1 BARET =T B4%&M7
RET458 % th2 BERET =T B4%&8
RET458%F th2 ERET—TB4&#10
RiRET460% i 1 BRI — T B5&5
BRET460% 1 FRET— T B6&#M7
EiRET460% Hh 1 BERET =T Be &8
BiRET460% o ERET— T B6&1ho
RERET46 1 Fih FAIRET — T B5%&#M112
BRET465%F 2 BRET—TH6&M14
REIRET468 & FAARET — T H6&E#13
EiRET468 %2 ERET— T B5&th7
EiRET468% 6 ERET—TH6&MH10
BRET469% 1 BRET—T B7&#3
EiRET469 % Hh 1 BRET =T B7&#8
RiRET473% 3 ERET—T B 16&1h9
FIRET47 4 & 16 BRI —TB7&#15
BAtRET475% 1 BAARET =T B 20% k1
RiRET475% 5 BIRET—T B 10%#h1
RAIRET47 9% th 1 MR —TB20%&16
BiRET479% 2 FERET =T B 12%&#3
BEARET479%F 2 FAARET—T B 20%& 5
RiRET479% 5 FHMHET =T BH59% 17
EiRET480F 2 ERET— T B20&14

BE{RAT480%F O

BERET— T B20&H#10
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EHiRET481 &2 EIRET—T B 12%h4
EHiRET481 &2 EIRET—T B 12%1h6
RiRET481 & th2 FERET =T B 12%&#7
BARET482F 3 BRET—T B 12%#17
EHiRET482F 3 ERET—T B 12&#18
EiRET484 % i 1 ERET— T B8 &3
EiRET484 % 1 ERET =T H12%#13
BARET484 % 1 BRET—TB12%M14
EiRET484 % 3 ERET—T B 12&H#15
EHiRET484 %13 ERET—TH12%&16
FiRET487 F#h3 BRET =T Bo&E 41
BARET487 & 3 BARET—T B 13% 4
EHiRET487 &4 BERET—T B 14%h9
EHiRET487 &5 EIRET =T B14%&#7
BEiRET490%F th2 FEIRET =T B 19%#1
FHiRET 492 % th FARET—T B 19%&H#8
REIRET 492 % Hh BAARET—T B 19%&#19
EiRET494 F i ERET—T B 14&H#15
EiRET494 F i ERET =T H14%&H#18
BARET494 % Hh2 BRET—TH14%H#18
REIRET 496 F Hh BAARET—T B 14%&H#20
EIRET497 & 1 ERET =T B 14&H#h22
RHIRAT490F FARET =T B 14% 11
FHiRET500% th BRET—TH16%#13
E{RET500% Hh 1 ERET =T B 16&#27
RIRET502% 1 1 ERET =T B16%&h32
R{RET503%F i ERET—T B7&Hh22
BARET503 % 1 BARET—T B 16518
EtRET503 % th 1 ERET—T B 16&i#h28
RIRET503 %t 1 EIRET—T B 16&1h34

BE{RAT503 % h 1

BRI — T B 16&#35
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E{RET503 % h 1 FERET—T B 16&#:40
BEiRET503 %3 BERET—T B 16%&th31
RIRET504 %t 1 FERET =T B 16&#30
BRET504 % 1 FAARET—T B 16%&#133
RIRAT504 % i 1 MR — T H26% 13
BiRET504 & 1h2 EIRET— T B26%1th8
BEiRET504 &3 FERET =T H26&H#10
BRET504 % 4 BRET—T B 16%&H#26
RiRET504 & 16 BERET =T B 26 &1
BiRET504 & 1ho BERET—T B 16%F#h39
ERET505%th6 FERET =T B 14&#25
BARET505%F #h7 BRET—T B 16%&#141
REIRET506 Zih BAARET—T B 14843
RRET506% i 1 EIRET—T B 16&i5
RIRET507 it 1 BIRET— T B9& 40
BARET507 &1 FAARET—T B 13% 8
REIRET508 &k BAARET — T Bo&E#23
REIRATS 1 2% BAARET — T Bo%EHM17
RRET513% FRET— T Bo& 26
BARET5 1451 BRET—T Bo&#27
RIRETS 14 % h2 ERET— T Bo&ih28
RIRET5 14 %13 ERET— T B9&#30
RIRET5 14 %5 BRET— T Bo& 32
BARET515% 1 BARET— T Bo&HM39
RRET515%th3 ERET— T Bo&E#38
RIRET515%1h3 BRET =T B 13%ih1
RiRET5 15% 4 BRET— T B9& 35
BRET515% 4 BRET— T Bo&H36
RAARETS 17 %1t 1 BRI —TH18%&M17
RAIRETS 18 %t 1 ERET—TB27&#17

BEIRATS 1 9% 1

ERET=T B16&th4
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RAIRET5 19%ha BRI =T B 1651
EHiRET522% ih ERET =T B26%&h5
EiRET523%th2 FERET =T B 29%&#h4
FHiRET524 Fith BAARET—T B29%& 18
EHiRET525% iHh EIRET— T B29%1h9
EiRET528 % ith BERET— T B29&10
RiRET529% BIMRET—T B 30%F 1
REIEETS33 % i 1 FARET—T R 18%&#M12
EIRET533% 2 BRET—T B 17&h9
EIRAT534 % i 1 BERET—T B20&F 7
RiRET Z 535& i BRI —THE31&MH12
BRET536% 6 FAARET—T B 30%& 6
RIRAT537 & ih 1 RET— T B32%h3
AiRAT538 % i ERET— T B32%ih4
RiRET538 % i BRET— T B32&i5
BARET541 &1 FAARET— T B33&FM15
RIRET54 1 &ih2 RET— T B33&th2
EiRET555%F 3 FERET— T H33&F#10
RET555% it 13 BERET— T Bo& 25
BRET556% 2 FAARET—T B 33%&M7
EiRET556 %3 FERET — T B 33&ih5
EiRET556 %4 RiRET— T B33%th3
EiRET556 %5 BRET =T B32%Fith11
BRET556% 6 FAARET— T B32%#13
RiRET557 Fith EIRET— T B32%1h9
EiRAT559% ih 1 ERET— T B30&ih4
REIRET560% 1 FEIRET =T H36&#:31
BRET560% 2 BARET—T B 36%&H#30
EiRET560% 3 FERET — T B 36 &5
BiRET561&ih2 ERET—TB36&th10
RiRET561 &3 FERET =T H36&H#12
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EHiRET56 1% h4 ERET—TB36&15
RRET56 1% 5 ERET— T B36&ith7
RHRETS57 15 1 FEIRET =T H36 %33
BARETS 714 BAARET—T B 36%& 1
RIRET575%th2 ERET—TB25%#17
RET575% th2 EIRET— T B33%th13
EIRET575%th3 BRI — T H25%ih14
BARET578% 3 FAARET—T B 30%& 7
EiRET580% 2 ERET— T H25&H#16
EiRET580%F 3 EIRET— T B25%1h6
BEiRET580% 3 FERET =T H25%&H#15
FHiRET582% th BRET—T B24%H#18
EiRET585% th 1 ERET =T B24&#20
EiRET586% i 1 ERET =T B25%i18
RiRET586% i 1 FERET =T H25%H#19
BARET586% 1 BARET— T B25%#20
EiRET586 %2 ERET— T B 17&#13
EiRET586 %3 ERET— T B25%h11
EiRET586%F 4 FERET =T B 17&H#11
FHiRET586% 10 BRET=T B 17%&#ho
RiRET586% 15 ERET =T B 17&H#15
EiRET586%F 15 ERET=TBR17&#17
RIRET587 Fith 1 BRET—T B25% 3
BARET587 & 2 BARET— T B25%&#27
RiRET587 Fh3 ERET— T B25&H#24
EHiRET587 &3 BERET— T B25%125
REiRET59 1% ERET—TH16&M12
BARET594 % 1 BRET—T B 18%&H#2
EIRET595% 3 FERET =T B5&#9
REIRAT5 97 & ith BAARET—T B 19%#7

BE{RAT590 % Hh 1

BAARET—T B 19%&H#5
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RiRET60 1% 2 ERET—TH21%&#15
BiRET601 &4 ERET =T B22%&h5
RiRET601 Ftth7 ERET—TH16&H#14
BARET601 &7 BRET—T B22%&H#2
EHiRET601 %12 ERET— T B22%ith6
RET601 %113 ERET =T B22%#10
RiRET603% i 1 FERET =T H21&#h9
BRET604 % 4 BARET—T B 21841
EiRET605 % 7 ERET—TB7%&#13
BEiRET605% s BERET—T B 7& 16
EiRET606 %2 ERET =T H21&H#10
BRET609% 2 BRET—T B21&H4
EiRET609 % 4 ERET—TB7&#10
EiRET609F 5 EIRET— T B22%i15
RHiRET6 125 Hh 1 ERET =T H22%&#16
BiRET612% 4 BARET— T B22%#17
RiRET6 13%tha ERET =T B23% 11
BHIRET6 15% ih FARET =T B 18%i1
RiRET6 15% BRET—T B23%F 3
FHiRET615% i BARET—T B23%&FH#2
RRET615% 1 ERET =T B22&H#h14
BiRET6 15%tha ERET—T B 18%ith6
RiRET6 15%th5 ERET =T B17&h4
BARET615% 8 BRET—T B17&H#7
RAiRET6 15%1tho BIRET— T B23% 1
RRET615% 10 ERET =T B 18%Fith11
RiRET616% FERET =T H23&#125
BRET616% 3 FAARET— T B23%#23
RiRET6 16%1hs ERET— T H23&#26
EiRET6 16%1ths ERET =T B23&#h27
EiRET6 17 Fith FERET—T B 16&#115
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RRET618% 1 ERET—T B23&H14
ERETF618%H2 BRET— T B23%Fih18
RiRET624 % 1 ERET =T H24 %13
BRET624F 3 BRET—T B24%&H#10
RET627 &t 1 ERET—THE37&th10
RiRET620% 1 ERET—TH6&#19
EiRET629%F 2 FERET =T H36&H#17
BARET629%F 3 BRET—T B24%&H16
RiRET629% 3 ERET— T B37& 3
BEiRET629% 6 ERET— T B39%th2
EiRET629%ths FEIRET =T B 39%& 0
EiRET620%Fth14 EIRET—T B5&1th8
RiRET620%F 15 BRET—T H36%FM19
HRET620% 15 ERET— T B36%Hth21
HRET620% 15 FERET =T H36&#22
EiRET6290%F 15 ERET—T B37&h2
RiRET620%F 15 BIRET— T B37&5
ERRT620% 16 EiRET— T B37&h4
RiRET630% i FEIRET =T B 39& 6
BARET632% 11 FAARET— T B36%& 128
EiRET633 % h 1 ERET—TB4&18
iRET633% 3 ERET— T B4&#h17
iRETZ 636F i ERET— T B35%ih2
BRET636% 1 FAARET—T B 35% k1
EiRET640% iHh BIRET— T B34 %1
HiRET643% FERET— T B34 %18
BEiRET643% 5 FERET =T H34&H#15
BRET643% 6 BARET—T B 34%& 11
RiRET644 %12 ERET— T B39% 21
EiRET644 %12 EIRET— T B39&h22
HRET644 %12 FEIRET =T B30&#18
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RiRET644 %113 BRET— T B34 %13
BHIRAT64 5% Hh FAARET — T B 35%& 4
RiRET64 6% 1 FEIRET =T B 39%&#1
BiRET646% 4 BARET—T B 39%&H#20
RiRET647 Fih2 ERET =T B5%& 1
BiRET647 Fih5 ERET =T B5& 17
BEiRET647 Fth5 ERET—TB5&#19
FHiRET64 8% i BRET— T B5&M16
RiRET648 %5 ERET =T H41&H#14
EiRET648% o EiRET— T B5&th2
RHiRET651 & Hh 1 FERET =T H41&#20
BARET651 &2 BRET—T B41%&#23
EiRET651 &3 ERET—T B41%#h21
RHIRAT652F il BAARET— T B4 1&#7
RiRET652% th FERET =T B4 1&#:8
BRET652% 6 BRET—T B41%&#17
RiRET652% 16 ERET— T B41&H#19
EiRET652%th24 ERET—TB41&#10
RiRET653% i 1 FEIRET =T B41&# 29
BARET653 % 1 BRET—T B41&H#30
EiRET653% 5 ERET =T B41&H#24
RiRET R 6538 FERET—T B2&#h4
RET653% 110 FERET =T H41&#25
RHtRET653 %10 ERET=T B41&th27
RiRET653 %12 ERET =T B41&H#26
EHiRET Z 656 & ERET =T B4 1% 1
RiRET656% 1 FERET =T B4 1&#3
BRET656% 6 BRET—T B41&H5
EiRET 2657 &t ERET— T B34& 17
EiRET661&ih2 ERET =T B41%#37
RiRET661 &3 FERET =T H41&#31
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EHiRET661 &5 EIRET— T B41&1134
BiRET661 &8 FERET =T H41&#:38
FiET848%F M6 T BT —T B20%H16
RS1RETO84 & i 1 KBTI T B 25% 126
HiRETO84 &4 FIHRETIE T B 25%F #1120
EiRETO84 %6 FRETET B 25% 24
RiRETO85 % th 1 FRETET B25% 19

LEHE= T REEEI1-24K

BéRFET1 Ei 1 FMET—T B54%F 3
BémFET1 Eih 1 FARET—T B 54F M5
BER<FHT3 &3 BT —T B49%& 8
BiRFET3&E 3 FAET—TB49%FM12
B FRI3&F M4 FRHET—T B49%H6
BimFEI3&F M5 FHMET—T B48%F 18
BiR<FHTA &1 FET—T B49%FH14
BiRFRT4 &3 FARET—T B54%& M2
HEmFHETSZF 1 FMET—T B54%F M2
BRI &1 FMET—T B54%F 7
BER<FET 14 %1 FET—T B49%&#2
B FET165%FH3 FAET—TBH49% 16
BiRFE15% 4 FMET—T B49% 17
AR FET 155 FRET—T B49%F 1
B & <FET 1 6% 1 FET—T BH48%FMH12
B FE16& 2 FAET— T B48%F 15
BimFE16%EHH3 FET—T B48%FM10
BEm<FHT17 %M1 FiHET— T B 48%& M6
Bik<FHET18& M8 BT — T B48%&H5
BéRFET18&FH#10 FARET— T H49% 13

L/NHET=T B 1038%it

E/HET=T B1038%it

L/INHET=T B1039%Fi

FHRET=TH 1512
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E/INEET=T B 1040% 01

FRET=T H1%&Hh6
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